
ALGORITMO PARA INTERPOLACION POR TRAMOS 

PRIMER GRADO 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

x, f, t, n 

phi=0 
U=0 

 
x[1]<=t & 
t<=x[2] 

phi[1]=(t-x[2])/(x[1]-x[2]) 

i=2, n-1 

I 

x[i-1]<=t & 
t<=x[i] 

phi[i]=(t-x[i-1])/(x[i]-x[i-1]) 
x[i]<=t & 
t<=x[i+1] 

phi[i]=(t-x[i+1])/(x[i]-x[i+1]) 

x[n-1]<=t & 
t<=x[n] 

phi[n]=(t-x[n-1])/(x[n]-x[n-1]) 

i=1, n 

U = U + f[i]*phi[i] 

phi, U 

F 

SI                             NO 

SI                             NO 

SI                             NO 

SI                             NO 



SEGUNDO GRADO 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

V 

x, f, t, n 

phi=0 
U=0 

 
x[1]<=t & 
t<=x[3] 

phi[1]=(t-x[2])*(t-x[3])/(x[1]-x[2])*(x[1]-x[3]) 

 

i=2, n-1, 2 

x[i-2]<=t & 
t<=x[i] 

x[i]<=t & 
t<=x[i+2] 

i=1, n 

U = U + f[i]*phi[i] 

phi, U 

F 

 

x[n-2]<=t & 
t<=x[n] 

phi[n]=(t-x[n-2])*(t-x[n-1])/(x[n]-x[n-2])*(x[n]-x[n-1]) 

 

SI                             NO 

SI                             NO 

 

x[i-1]<=t & 
t<=x[i+1] 

phi[i]=(t-x[i-1])*(t-x[i+1])/(x[i]-x[i-1])*(x[i]-x[i+1]) 

 

i=3, n-2, 2 

phi[i]=(t-x[i-2])*(t-x[i-1])/(x[i]-x[i-2])*(x[i]-x[i-1]) 

 
phi[i]=(t-x[i+2])*(t-x[i+1])/(x[i]-x[i+2])*(x[i]-x[i+1]) 

 

I 

SI                             NO 

SI                             NO 

SI                             NO 


